[N of associated tracks (simToReco) vs dxy(PV) |

[N of simulated tracks vs dxy(PV) ]

TP dz(PV) (cm)

TP dz(PV) (cm)

4 =3
—_— —
42 Ch S —
fy’ <)
> oS
S NE
5] — - o
‘1|3 S o s o
= g — g
0 E =
o ©
g 2
(=} 5 =lo =
8 8
i £ £
o
o £ = 15 Lo
-1 2 [ ) S
1 ° 2 ;
-4 g o
| = = =
o 3 H 1 3
={N ] T —
I S : S
9 L
< — ©
3 5 &l 5 5 k) S 3
o = o =z - — - o
Sd.1 pajonnsuodey oney Sd.1 palonisuodsy oney LJ sdl payonisuodsy oney L] sdl pamonnsuodsy oney
“““ 9 - S
g HE 3 e
o 2 . mw S —
N .
S\W . T, Y S \ww
= 2 . e a
o ] 2 : P4 S 0
- ° PP I Y ———— = [} ST SR L . AN =Hoan o
o 2 3 : —
= oF| <3 M . % M
25 | : : S|
o [ESES o o c
EXEN N ]
> o 5552 e 2
el el -
. AR 2 = 1_. ¥ 0
= (3333 g ] o
——— Iy} (sgayajyal = =]
k=l o =
kL ! | ] =N 2
| < | T
e — ) El E —
j == £ £ . £
o = B3 N N N & e d 2
=) o (=) = g5 o! 5 S ! S >
— — — — Bl IS > = IS) = =]
sa|oiuedbupioel oney L sspoiuedbunioel ) oney L] sajnuedbupioel ) oney L] sejpnredbupioe.) oney




	Contents
	Page 1


